Ersatzteilliste Lista parti di ricambio
Spare parts list Onderdelenlijst
Liste des pieces de rechange Lista de repuestos

6720818100
(2019/09) Ri

P750 S

8738893446.aa.RO

Buderus

23.09.2019 1 6720818100




2 6720818100
23.09.2019



[de] Wichtige Hinwelse zur Installation/Montage

Die Installation/Montage muss durch eine fiir die Arbeiten zuge-
lassene Fachkraft unter Beachtung der geltenden Vorschriften
erfolgen.

[en] Important notes on installation/assembly

The installation/assembly must be carried out by a professional
who is authorised to do the work, and with due regard to the
relevant regulations.

[fr] Instructions importantes pour 'installation/le montage

L'installation/le montage doit étre effectué(e) par un spécialiste
qualifié pour les opérations concernées et dans le respect des
prescriptions applicables.

[bg] BaxHu ykazaHus BbB Bpb3Ka € UHCTanauuATa/MoHTaxa

UHcTanaumATa/MOHTaXbT TpAGBa Ja ce M3BbPLUBA OT ILIEH3UpaH
3a paboTuTe CneuranncT B CbOTBETCTBME C NPWIOKUMNTE
pasnopenbu.

[cs] Diilezité pokyny k instalaci/montazi
Instalaci/montaz musi pfi dodrzenf platnych predpist provést
odborny pracovnik s pfislusnym opravnénim pro tyto préce.
[da] Vigtige anvisninger til installationen/monteringen

Installationen/monteringen skal foretages af en godkendt installa-
ter under overholdelse af de geeldende forskrifter.

[el] Znuavtikég umobei€elc yia Ty eykatdotaon/cuvapdoléynon
H gykataoctaon/ouvappoAdynon mpénel va mpaypatomnoleital and
£§ouo1080TNPEVO YIa TIG EPYATieg AUTEG TEXVIKO TPOCWMIKO, TO
omnoio Ba mpémel va ppovTiel DoTe va TNPOoUVTAL Ol LoYUOUGEG
Slata&eic.

[es] Indicaciones importantes para instalacién/montaje
La instalacién/el montaje lo debe realizar personal especializado
autorizado para los trabajos, respetando las prescripciones vigen-
tes.

[et] Olulised juhised paigaldamiseks/montaaZiks
Paigaldamist/montaazi tohib ldbi viia selleks volitusi omav
spetsialist, arvestades kehtivaid néudeid.

[fl] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur. Hij moet rekening
houden met de geldende voorschriften.

[fi] Térkeitd asennus- ja kokoonpano-ohjeita

Naihin téihin hyvaksytyn ammattiasentajan pitéé suorittaa asen-
nus- ja kokoonpanoty&t voimassa olevien maardysten mukaisesti.
[hu] Fontos tudnivaldk az installdldshoz/szereléshez

Az installdlast/szerelést egy, a munkékra felhatalmazott
szakembernek kell végeznie, az érvényes el6irasok
figyelembevételével.

[it] Avvertenze importanti per I'installazione/il montaggio
L'installazione/il montaggio deve aver luogo ad opera di una ditta
specializzata ed autorizzata in osservanza delle disposizioni
vigenti.
[he] 8608369emmgzs60 Bomomgdgdo oBldsmsgoobmgol/dmbsgolsmgol
0BbEm305/0mbFHog0 MBs 3obbmMEogwgl badmdsmgdobmgol sdzgdmao
333a0x030Ho 3g@lmbsamols dog, dmgdgwo gsbsfiglol aggoom.
[it] Svarbios instaliavimo ir (arba) montavimo nuorodos
Instaliuoti ir montuoti, laikantis galiojan¢iy taisykliy, leidziama
kvalifikuotiems specialistams, kurie buvo jgalioti $iems darbams
atlikti.

23.09.2019

[Iv] Svarigi noradijumi par iekartas uzstadiSanu / montazu
lekartas uzstadisanu/montazu ir javeic specializétam sertificétam
specialistam, ievérojot speka eso3os noteikumus.

[nl] Belangrijke aanwijzingen betreffende de installatie/montage

Deinstallatie/montage moet worden uitgevoerd door een voorde
werkzaamheden geautoriseerde installateur rekening houdend
met de geldende voorschriften.

[no] Viktig informasjon om installasjon/montering
Installasjonen/monteringen skal giennomfares av autoriserte
installaterer, og gjeldende forskrifter skal fglges.

[pl] Wazne wskazéwki dotyczace instalacji/montazu
Instalacja/montaz musza by¢ wykonane przez uprawnionego

do tego rodzaju prac specjaliste przy zachowaniu obowigzujacych
przepiséw.

[pt] Indicagées importantes relativas a instalagao/montagem

A instalagao/montagem deve ser efetuada por um técnico espe-
cializado com qualificagbes para estes trabalhos, tendo em aten-
¢éo os regulamentos em vigor.

[ro] Indicatii importante privind instalarea/montajul

Instalarea/montajul trebuie realizate de cdtre un specialist autorizat
pentru lucrdrile respective, respectandu-se prescriptiile valabile.

[ru] BaxkHble YKazaHusA no I'IOAKHIO'-IeHVIIOIMOHTa)Ky

MopaknioueHne/MOHTaX AOMKHbI BLINOMHATL CreLManucTbl,
UMeLMe AoNYCK K BLINOMHEHUIO Takux paboT, npu cobniogeHnn
AEVCTBYIOLMX HOPM U NMpaBw.

[sk] DéleZité pokyny tykajuice sa instaldcie/montaZe
In3talaciu/montaz musi realizovat odbornik s oprédvnenim na
vykon tychto préc, pri¢om musfi dodrZovat platné predpisy.
[sl] Pomembni napotki za namestitev/montazo
Namestitev/montaZo mora izvesti strokovnjak, pristojen za
tovrstna dela, ob uposte vanju veljavnih predpisov.
[sr] Vazna uputstva za ugradnju i montazu
Ugradnju i montazu moraju da obave samo strucna lica ovlas¢ena
za izvodenje takvih radova koja ¢e postovati vazece propise.
[sv] Viktiga anvisningar foér installation/montering
Installationen/monteringen maste utforas av en behérig och fack-
kunnig person enligt gdllande féreskrifter.
[tr] Kurulum/Montaj ile ilgili 6nemli uyarilar
Kurulum/Montaj calismalari sadece yetkili bayiler tarafindan
asagida belirtilen talimatlar dikkate alinarak yapiimalidir.
[uk] Baxxnusi BKasiBKM 040 YCTAHOBKUWMOHTaXY
YcTaHOBKY/MOHTaX MaloThb 3/jliicHIoBaTK dpaxisLy, Lo MaloTb Ao3sin
Ha NpoBefeHHA UuX pobiT, i3 AOTPUMAHHA YNHHUX NPUNACIB.
[zh] &RFEMEERR
DAZR R BB VF R AR AR T L AR (K1 M A B B DS VR R REAT 22 8.
araaillfous 5l Laa cidiadia [ar]
At g3 5l sle ya pa Janlly 4l 7 gean (pacaite 38 e preaillfn 3 2% of cang
2R gafirual 0l pga it S0 [fa]
JalSaa sl Gaigar 5 sl IS Col alanil 4y Slave 4K (6) 4B ya 638 dann 5T 3y U pefcuaa
g aladh Ada g pe e 4y

6720818100



Ersatzteilliste
Spare parts list

Liste des piéces de rechange

Lista parti di ricambio

Onderdelenlijst
Lista de repuestos

11

8738893447.ab.RO

Handlochdeckel + Anode P750 S

Hand hole cover + anode P750 S

Trappe de visite + Anode P750 S

Coperchio d'ispezione + Anodo P750 S
Handgatdeksel + Anode P750 S

Tapa de la boca de hombre + anodo P750 S

P750 S

23.09.2019

6720818100




Pos |Bezeichnung Bestell-Nr. Bemerkungen
Description Ordering no. Remarks
Dénomination Numéro de commande Remarques
Descrizioni N° d'ordine * g i Osservazioni
Benaming Bestelnummer 21318 Opmerkingen
Descripcion Numero el ordenar NN Y Observaciones

1 |Anode D33x400mm 87185715680 m W H

2 |Anodenbefestigungs-Set (10x) 5264278 LN AN |

3 |Unterlegscheibe ISO 7089 A8,4 A3K (10x) 87185712690 |m|m =

4 |6kt-Mutter ISO4032 M8 8 A3K 82585180 RN

5 |Massekabel isaliert fur Anode 63037168 LA B

6 |Handlochdeckel 7747022151 (m|m | ®m

7 |Dichtring 120x152x10mm 63043454 LI AR

8 |Einlaufrohr Kaltwasser 475613 LA B

9 |Fremdstromanode Correx UP Nr 10-19H/3 3868354 LA B

10 |Anodenbefestigungs-Set fir Inert-An (5x) 3868384 H N

11 |Inert-Anode 400mm |g mit Gewindestift M8 3868346 HEE

12 |Steckerpotentiostat UP 19H 87185709810 m | 'm =

13 |Anschlussleitung Correx UP 63023625 LR AN

14 |Fuhrungsdraht WW-Fuhler 550mm 63018201 LR AN

15 |6kt-Schraube M10x25 (8x) SW16 7735500189 |m W ®m

16 |Gewindesegment 7735501893 |m m®m

P750 S Handlochdeckel + Anode P750 S

Hand hole cover + anode P750 S
Trappe de visite + Anode P750 S
Coperchio d'ispezione + Anodo P750 S
Handgatdeksel + Anode P750 S

Tapa de la boca de hombre + anodo P750 S

23.09.2019

6720818100




Ersatzteilliste
Spare parts list

Liste des piéces de rechange

Lista parti di ricambio

Onderdelenlijst
Lista de repuestos

8738893448.ab.RO

Isolierung P750 S
Insulation P750 S
Isolation P750 S
Coibentazione P750 S
Isolatie P750 S
Aislamiento P750 S

P750 S

23.09.2019

6720818100




Insulation P750 S
Isolation P750 S
Coibentazione P750 S
Isolatie P750 S

Aislamiento P750 S

Pos |Bezeichnung Bestell-Nr. Bemerkungen
Description Ordering no. Remarks
Dénomination Numéro de commande Remarques
Descrizioni N° d'ordine wla i Osservazioni
Benaming Bestelnummer 21318 Opmerkingen
Descripcion Numero el ordenar NN Y Observaciones

1 |Warmeschutz P750 S C 8735100755 | m

1 |Warmeschutz P750 SC W 8735100756 | H n
1 |[Wé&rmeschutz P750S C S 8 735 100 909 u

6 |Abdeckung D1000x70mm Deckel 67900786 HEE
7 |Abdeckleiste 750/1000 67900787 LA B
8 |Abdeckung E-Heizung 750 67900767 LR AN
9 |Abdeckleiste hinten 400-1000L (Set 3x) 63004262 LN AN |

P750 S Isolierung P750 S

23.09.2019

6720818100




Liste des traductions
Traduzione delle descrizioni

Vertalinglijst
Lista de traducciones

Ubersetzungsliste
List of translations

Pos | Description Denomination Descrizione Benaming Descripcion
1 |Element of construction Groupe de construction Gruppo di construzione Montagegroep Grupo de construccion
1 |Anode D33x400mm Anode magnes 33x400 mm v2 |Anodo D33x400mm Anode D33x400mm Anodo completo 33x400mm
2 |Mounting kit magn.anodes insulated 10 pc | Fixation pour anode (10 pces) |Set di fissaggio anodi di magnesio (10x) | Bevestigingsset magnesiumanoden (10x) |Kit de montaje del Anodo (10x)
3 |Washer ISO 7089 A8,4 A3K (10x)|Rondelle plate ISO 7089 A8,4 A3K (10X) |Rondella ISO 7089 A8,4 A3K (10x) |Onderlegring ISO 7089 A8,4 A3K (10X |Junta ISO 7089 A8,4 A3K (10x)
4 |G234X/334X M8 NUT FOR BASE |Ecrou 6 pans ISO4032 M8 8 A3K |Dado esagonale ISO4032 M8 8 A3K | Zeskantmoer ISO4032 M8 8 A3K | Tuerca hexagonal ISO4032 M8 8 A3k
5 |Earth cable isolated for anode |Céble de masse pour anode Cavo di massa anodo (isolato) |Massakabel anode (ge#soleerd) |Cable tierra para anodo
6 |Manhole cover TRAPPE VISITE Coperchio d'ispezione Handgatdeksel Brida Registro
7 |Sealing ring 120x152x10mm Joint etancheite 120x152x10mm |Anello di tenuta 120x152x10mm | Afdichtring 120x152x10mm  |Junta D120x152x10mm brida registro acumu
8 |Inlet pipe cold water unit Tube injecteur eau froide Tubo di alim. Acqua fredda | Toevoerpijp koud tapwater Tubo entrada agua fria ST
9 |Inert anode UP 400mm Anode inerte UP400 avec branch | Anode inerte UP400 Inertanode met aansluitstekker |Anodo inerte Correx UP 10-19-H7
10 |Mounting kit inert anodes (5 pack) |Fixation Anode Inerte (5x) Materiale per il Montaggio Anodo (5x) | Bevestigingsset inertanoden | Material de Montaje Anodo inerte (5x)
11 |Inert anode 400mm with Threaded stud M8 |Anode inerte 400mm avec Tige filetée M8 |Anodo inerte con Perno filettato M8 |Inertanode 400mm met Draadstift M8 |Anodo inerte 400mm con rosca M8
12 |Connector potentiostat UP 19H AMP plug | Potentiostat # connecteur UP 19H |Potenziostato connettore UP 19H | Potentiostaat UP 19H Enchufe UP 19H
13 |Connecting cable Correx UP Conduite de raccordem.Correx UP |Cavo di collegamento Correx UP completo | Aansluitkabel 3500mm voor UP19H (050) | Cable de conexion Correx UP
14 |Lead wire 550mm Ig for warm water sensor | Fil conducteur Iongueur 550mm |Cavo principale 550mm per Sonda Acqua ca | 550mm Sensordraad voor warm water | Alambre guia 550mm para sensor ACS
15 |Thread-forming screws M10x25 (8x) AF16 | Vis # ressort M10x25 (8x) clé de 16 |6kt vite autofilettante M10x25 (8X) SW16 | Zelftapschroeven M10x25 (8x) SW16 |Tomillos autométicos M10x25 (8x) SW16
16 |Thread Segment packed Plaque # segment Piastra segmentale Segmentplaat Placa de segmentos
2 |Element of construction Groupe de construction Gruppo di construzione Montagegroep Grupo de construccion
1 |Insulation P750 S C packed Isolation P750 S C Isolamento P750 S C Isolatie P750 S C Aislamiento P750 S C
1 |Insulation P750 S C W packed |Isolation P750 S C W Isolamento P750 S C W Isolatie P750 S C W Aislamiento P750 S C W
1 |Insulation P750 S C S packed |lsolation P750 S C S Isolamento P750 SC S Isolatie P750 SC S Aislamiento P750 SC S
6 |Casing lid D1000x70mm black |HABIL DESSUS D1000x70mm |Coperchio rivestimento D1000x70omm nero | Afdekkap D1000x70mm Carcasa superior D1000x70mm negra PL750
7 |Protective strip front 750/1000 |HABIL BAGUETTE PVC 750/1000 |Listello di copertura anteriore 750/1000 | Afdekstrook 750/1000 Embellecedor frontal 750/1000
8 |Cover electric heater front 750 |Couvercle Chauffage électrique 750 |Copertura tetto Riscaldam elettrico 750 |Afdekking Elektrische verwarming 750 | Recubrimiento frontal resistencia 750
9 |Protective strip rear 400-1000L (Set 3x) |Fixation arr isol 400-1000/2 (Set 3x) |Asse di copertura posteriore (set 3x) |Afdeklijst achter 400-1000L (Set 3x) |Embellecedor trasero 400-1000L (Set 3x)

23.09.2019

6720818100




Geratetypen
Types of appliances

Types de chaudieres
Tipo apparecchi

Toesteltypes

Tipos de aplicaciones

Gerat Bestell-Nr. Land S-Nr. Bemerkungen
Appliance Ordering no. Country S-Nr. Remarks
Chaudiere Numéro de commande Pays S-Nr. Remarques
Apparecchio N° d'ordine Paese S-Nr. Osservazioni
Toestel Bestelnummer Land S-Nr. Opmerkingen
Aparato Numero el ordenar Paese S-Nr. Observaciones
P750 S 7 747 303 930 Australien

P750 S 63035996 Australien,China,Estland,Kasachstan,

P750 S mont 63205016 Belgien,Deutschland,Frankreich,Luxemburg

P750 S 5067400 Belgien, Deutschland, Luxemburg, Portugal,

P750 S W 5067402 Belgien,Deutschland,Luxemburg, Osterreich

P750S 7 736 500 735 Belgien,Frankreich

P750S W 7 736 500 736 Belgien,Frankreich

P750 S 7 747 303 932 China

P750 S 7 747 550 068 Deutschland,Luxemburg

P750 S S-C 7739612 924 Deutschland,Luxemburg

P750 S S-C 7 739 612 921 Deutschland,Luxemburg

P750 S W 7 747 550 069 Deutschland,Luxemburg

P750 S W-C 7 739 612 920 Deutschland,Luxemburg

P750 S-C 7 739 612 919 Deutschland,Luxemburg

P750 S 7 736 500 792 Estland,Lettland,Litauen

P750 S W 7 736 500 793 Estland,Lettland,Litauen

P750 S 30007198 Italien

P750 S W 30007199 Italien

P750 S W 7 736 500 795 Kasachstan,Russische Foderation

P750S 7 736 500 794 Kasachstan,Russische Foderation

P750 S 7 736 613 466 Kroatien

P750 S 7 747 303 931 Neuseeland

23.09.2019

6720818100




Types of appliances

Geratetypen

Types de chaudieres
Tipo apparecchi

Toesteltypes
Tipos de aplicaciones

Gerét

Bestell-Nr.

Land

S-Nr.

Bemerkungen

Appliance Ordering no. Country S-Nr. Remarks
Chaudiere Numéro de commande Pays S-Nr. Remarques
Apparecchio N° d'ordine Paese S-Nr. Osservazioni
Toestel Bestelnummer Land S-Nr. Opmerkingen
Aparato Numero el ordenar Paese S-Nr. Observaciones
P750 S 7 747 301 393 Polen

P750 SW 7 747 301 394 Polen

P750 S 7 747 311 745 Portugal,Spanien

P750 SW 7 747 311 746 Portugal,Spanien

P750 S 7 736 500 798 Rumanien

P750 S W 7 736 500 799 Rumanien

P750 SW 7 747 301 994 Rumanien

P750 S 7 747 308 197 Schweiz

P750 SW 7 747 308 198 Schweiz

P750 S 7 736 613 467 Serbien

P750 S 7 736 500 802 Slowakei

P750 S 7 736 500 257 Slowakei

P750 S W 7 736 500 803 Slowakei

P750 S W 7 736 500 258 Slowakei

P750 S 7 736 500 796 Tschechien

P750 S W 7 736 500 797 Tschechien

P750 S 30008900 Tarkei

P750 S 7 736 500 800 Ungarn

P750 S W 7 736 500 801 Ungarn

23.09.2019

10

6720818100




1 1 6720818100
23.09.2019



Bosch Thermotechnik GmbH

Sophienstr 30:32 Buderus

23.09.2019 1 2 6720818100



